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o 3 V2 o VT Atelofl gl FeEjgrt obd 2127 (T V2 = 1414
, V7 =2.646 )

V2 + V7

O V2+1 @ 5 ® 5

@) vi-v2 ® 72

@ V7 - V2 =2.646-1.414 = 1.232
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F oA k2 +3x+2 @ x? - 2x -8 9

O x+1 @X—I—Z ® x+4

T59 Q=Y
@ x-4 ® x-2

¥ 4+3x+2=(x+1)(x+2)
¥ -2x-8=(x—-4)(x+2)
webd] BE9 A4 (x4 2) oleh.
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® 3a(3%ax — 4ay)? @3a(3x + 2y)(3x = 2y)

® 3(9ax? — 4ay?)

27ax? — 12ay® = 3a(9x — 4y?)
= 3a(3x + 2y)(3x — 2y)
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11. A, B7b o2t 22 o, A + B 9 327

A= V5 + /(=2 = /B x (- 3)°

B = Vi x \/§+<_\/§>

@2 o4 ® 0 @ 1 ® 2

A=14+2-3?x2=7-18=-11

B=12X§+<—g>:12x§x<_§):_10
9 3 9 2

A+ B=-11+(-10) = -21
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ZF Hg A FoHH 3 < (2x-5)2 < 27
(2x—5)2 = 22, 32, 42, 52
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6x% +ax+15 = (2x + b)(cx +5) ©]
of w27

O 21 @ 22 ® 23 @ 24 ®)25

B ~
6x% + ax + 15 = 2¢x? + (10 + bc)x + 5b

2c =06, 5b =15, 10+ bc =a

c=3,b=3,a=19

“a+b+c=25




16. o4 (x* - 3x+2)(x* + 5x + 6) - 60 & Y2 sstH?

O (x+4)(x=-3)(x*+x+5) @ (x=4)(x+3)(x*—x+4)
® (x+6)(x—2)(x*+x+5) @(x+4)(x—3)(x2+x+4)

® (x-4)(x+3)(x*+x+4)

B

(x% = 3x+2)(x% + 5x + 6) — 60

= (x—1)(x - 2)(x + 2)(x + 3) — 60
=(x-1)(x+2)x(x=2)(x+3)-60
=(x?+x-2)(x2+x-6) - 60
P¥+x=A2EC°H
(A-6)(A-2)-60=A2-8A-48
=(A-12)(A+4)

= (x> +x—12)(x®> + x + 4)
=(x+4)(x-3)(x2+x+4)
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@(a+3b—4)(u—3b—4)
® (a+3b+4)(a+3b-4)

® (a+3b+4)(a—3b+4)

@ (a+3b+4)(a—3b-4)
@ (a-3b-4)?
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x%y + xy* — 2xy

=xy(x+y-2)

=(2+ V3)(2- V3)(2+ V3+2- V3-2)
= (4-3)x2=2




19. 2x-y=3< o, V2x+y 7t AQ57 HA TE= 7P F2 T 2
AL x =7

D 10 @13 ® 16 @ 19 ® 22

B )
2x—-y=3=>y=2x-3
V2x+y=V2x+2x-3= Vix-3
x = H&% 7P A2 T 4291 10 o]4olojof st =,
T8 O AlFge 72 o]4do] Hojof jtr}. (V4x10-3 =
V37> 7?)
SoVAx-3 =74 o, x=13 o]Bg Y3t
SLx=13




20. (x-2)x*-3(x-2)x-10(x-2) & IFEdl5tH?

@) (x-2)(x-5) (x+2) @ (x-2) (x+5) (x+2)
® (x=2)(x=5)(x+3) @ (x=2)(x+5)(x-2)
® (x=2)(x+5)(x-3)

B

A=x-2 2 A5
(x=2)x>=-3(x=2)x-10(x-2)
= Ax? - 3Ax - 10A

= A(x® - 3x - 10)
=A(x-5)(x+2)
=(x-2)(x=5)(x+2)




(2a — b)? - (2a + b)?
=(2a—b+2a+Db)(2a—b-2a-b)
= da x (—2b)

= —8ab




